Practice Test One: Diagnostic Test
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It was nicer when she moved in.
[t was hard ro find.

[t was not a nice place at first.
The man has seen it before.

He won't hire anyone.

The woman won't get the job.

‘The job application was incomplete.
He can’t tell her anything.

The man should talk to his mother.
The man should call his mother
later.

The man’s mother will not be in.
Anyone could call his mother.

He doesn't like rain.

He likes soccer very much.
The game isn’t important.

He doesn't like to watch soccer.

She looks old enough.
She looks younger than 21.

The man looks older than she does.
She looks older than 21.

He enjoys sports.
He doesn't like his team.
He doesn’t want to lose.
He is not athletic.
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Wait for better weather.
Don't skate so early.
Skate with a friend,

Buy a new pair of skates.

ar a restaurant

in a kitcchen

at a theacer

at a grocery store

She has never seen the man.

She doesn’t know any European his-
tory.

She and the man were classmares.
She doesnt remember the man.

Jeremy’s brother
Jeremy

the woman

the man

She’s glad he called.

She thought he would call.

She’s angry because he didn't call.
She doesn’t mind that he didn’t call.

in an airplane

in a truck

at a sporting event

in a department store




